Контрольная работа.
1 вариант
1. Вычислите:
а) 4,35∙18                     г) 53,3:26
б) 6,25∙108                   д) 6:24
2. Найдите значение выражения
90-16,2:9+0,08
3. Выполните действия:
а) 0,872∙6,3                                      
б) 1,6∙7,625                                          
в) 0,045∙0,1  
4. Решить уравнение:
у+2,6=27,8

Контрольная работа.
2 вариант
1. Вычислите:
а) 3,85∙24;                            г) 35,7:34
б) 4,75∙116;                          д) 7:28
2. Найдите значение выражения
40-23,2:8+0,07
3. Выполните действия:
а) 0,964∙7,4                               
б) 2,4∙7,375                               
в) 0,72∙0,01
4. Решить уравнение:
х+3,8=20,6
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